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fo|kF;k±lkBh egŸokP;k lwpuk
1. ifj{kkFkh±uh vkiyk vklu ÿekad ;k i`"Bkojhy ojP;k dksiÚ;kr fygkok-

rlsp vki.kkal fnysY;k mŸkjif=dspk ÿekad R;k[kkyh fygkok-
2. lnj iz'uif=dsr 75 cgqi;kZ;h iz'u vkgsr- izR;sd iz'ukl nksu xq.k

vkgsr- ;k iz'uif=dsrhy loZ iz'u lksMfo.ks vfuok;Z vkgs- lnjps iz'u
gs ;k fo"k;kP;k laiw.kZ vH;klÿekoj vk/kkfjr vkgsr-

3. ijh{kk lq: >kY;koj fo|kF;kZyk iz'uif=dk fnyh tkbZy- lq#okrhP;k 5
feuhVkae/;s vki.k lnj iz'uif=dk m?kMwu [kkyhy ckch vo'; riklwu
igkO;kr-
(i) iz'uif=dk m?kM.;klkBh iz'uif=dsoj ykoysys lhy m?kMkos-

lhy ulysyh fdaok lhy m?kMysyh iz'uif=dk fLodk: u;s-
(ii) ifgY;k i`"Bkoj uewn dsY;kizek.ks iz'uif=dsph ,dw.k i`"Bs

rlsp iz'uif=dsrhy ,dw.k iz'ukaph la[;k iMrk w̌u igkoh-
i`"Bs deh vlysyh@deh iz'u vlysyh@iz'ukapk pwdhpk
ÿe vlysyh fdaok brj =qVh vlysyh lnks"k iz'uif=dk
lq#okrhP;k 5 fefuVkrp i;Zos{kdkyk ijr ns≈u nqljh
iz'uif=dk ekxowu ?;koh- R;kuarj iz'uif=dk cnywu
feˇ.kkj ukgh rlsp oš gh ok<owu feˇ.kkj ukgh ;kph œi;k
fo|kF;k±uh uksan ?;koh-

(iii) ojhyizek.ks loZ iMrkˇwu ifgY;kuarjp iz'uif=dsoj
vks-,e-vkj- mŸkjif=dspk uacj fygkok-

4. izR;sd iz'uklkBh (A), (B), (C) vkf.k (D) v'kh pkj fodYi mŸkjs fnyh
vkgsr- R;krhy ;ksX; mŸkjkpk jdkuk [kkyh n'kZfoY;kizek.ks Bˇdi.ks
dkˇk@fuˇk djkok-
mnk- % tj (C) gs ;ksX; mŸkj vlsy rj-

5. ;k iz'uif=dsrhy iz'ukaph mŸkjs vks-,e-vkj- mŸkjif=dsrp n'kZokohr-
brj fBdk.kh fyghysyh mŸkjs riklyh tk.kkj ukghr-

6. vkr fnysY;k lwpuk dkˇthiwoZd okpkO;kr-
7. iz'uif=dsP;k 'ksoVh tksMysY;k dksÚ;k ikukojp dPps dke djkos-
8. tj vki.k vks-,e-vkj- oj uewn dsysY;k fBdk.kk O;frjh‰ brj dksBsgh

uko] vklu ÿekad] Qksu uacj fdaok vkš [k iVsy v'kh dks.krhgh [kw.k
dsysyh vk< w̌u vkY;kl vFkok vlH; Hkk"kspk okij fdaok brj xSjekxk±pk
voyac dsY;kl fo|kF;kZyk ijh{ksl vik= Bjfo.;kr ;sbZy-

9. ijh{kk laiY;kuarj fo|kF;kZus ew̌  vks-,e-vkj- mŸkjif=dk i;Zos{kdkadMs
ijr dj.ks vko';d vkgs- rFkkih] iz'uif=dk o vks-,e-vkj- mŸkjif=dsph
f}rh; izr vkiY;kcjkscj us.;kl fo|kF;k±uk ijokuxh vkgs-

10. Q‰ fuˇÓk fdaok dkˇÓk ckWy isupkp okij djkok-
11. dWyD;qysVj fdaok ykWx Vscy okij.;kl ijokuxh ukgh-
12. pqdhP;k mŸkjklkBh xq.k dikr dsyh tk.kkj ukgh-

A B D
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1. Suppose an individual can have a

job yielding Rs. 30,000 and

Rs. 10,000 with equal probability.

The utility of Rs. 30,000 and

Rs. 10,000 is 18 and 14 respectively.

The expected income and expected

utility in this case would be :

(A) 30,000, 14

(B) 20,000, 16

(C) 20,000, 18

(D) 10,000 14

1. letk ,dk O;Drhyk v'kh uksdjh feˇw 'kdrs

dh T;kP;kiklwu R;kyk 30]000 #- vkf.k

10]000 #- mRiUu leku laHkkO;rsusa fe šy

30]000 #- vkf.k 10]000 #- ;kaph mi;ksfxrk

vuqÿes 18 vkf.k 14 vkgs- ;k uksdjhiklwu

feˇ.kkjs visf{kr mRiUu vkf.k visf{kr

mi;ksfxrk v'kh vlsy %

(A) 30,000, 14

(B) 20,000, 16

(C) 20,000, 18

(D) 10,000 14

ECONOMICS
Paper III

vFkZ'kkL=
iz'uif=dk III

Time Allowed : 2½ Hours] [Maximum Marks : 150

Note : This paper contains Seventy Five (75) multiple choice questions. Each

question carries Two (2) marks. Attempt All questions.

lwpuk % ;k iz'uif=dsr ,dw.k ipgŸkj (75) cgqi;kZ;h iz'u vkgsr- izR;sd iz'ukyk nksu (2) xq.k
vkgsr- loZ iz'u lksMok-
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2. Suppose ω and γ denote rewards to

labour and capital. If the production

function is homogeneous such as

Q = ALαKβ then every point on the

long run expansion path satisfies the

following conditions :

(A) K / L
α

=
β

(B) K / L
βγ

=
αω

(C) K / L
βω

=
αγ

(D) K / L Q .
ω

=
γ

3. Assertion (A) : In a cartel aiming

at joint profit maximization the

lower cost firm gets larger share in

profits.

Reason (R) : Because it can charge

higher price.

(A) Both (A) and (R) are correct and

(R) is the correct explanation

of (A)

(B) Both (A) and (R) are correct but

(R) is incorrect explanation of (A)

(C) (A) is incorrect but (R) is correct

(D) (A) is correct but (R) is incorrect

2. letk ω vkf.k γ us Jfed vkf.k HkkaMoykP;k

ekscnY;kpk funsZ'k dsysyk vkgs- tj mRiknu

Qyu Q = ALαKβ v'kk izdkjps ,dftulh

vlsy] rj nh?kZdkyhu foLrkjiFkkojhy izR;sd

fcanw [kkyhy vV iw.kZ djrks %

(A) K / L
α

=
β

(B) K / L
βγ

=
αω

(C) K / L
βω

=
αγ

(D) K / L Q .
ω

=
γ

3. fo/kku (A) % uQk izkIrh egŸke dj.;kps

mfÌ"VÓ vl.kkÚ;k foÿ; fu;a=.k la?kkr deh

[kpZ vl.kkÚ;k m|ksx laLFksyk cktkjkrhy tkLr

okVk feˇrks-

dkj.k (R) % dkj.k deh [kpZ vl.kkjh

m|ksxlaLFkk tkLr fdaer vkdk: 'kdrs-

(A) (A) vkf.k (R) nksUgh cjkscj vkf.k (R)

gs (A) ps ;ksX; Li"Vhdj.k

(B) (A) vkf.k (R) nksUgh cjkscj i.k (R)

gs (A) ps pqdhps Li"Vhdj.k

(C) (A) pwd ijarq (R) cjkscj

(D) (A) cjkscj ijarq (R) pwd
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4. In Baumol’s sales revenue

maximization theory the firm will

maximize sales revenue if :

(A) Profit constraint is not

operative

(B) Profit constraint is operative

(C) Profit is maximum

(D) There is constraint on

advertising expenditure

5. In Bertrand Duopoly model, iso-

profit curves are :

(A) Concave to the axis on which

price is measured

(B) Convex to the axis on which

price is measured

(C) Concave to the axis on which

quantity is measured

(D) Convex to the axis on which

quantity is measured

6. If there is monopoly and monopsony

power then the equilibrium price of

an input is :

(A) Below the competitive level of

price

(B) Above the competitive level of

price

(C) Equal to the competitive level

of price

(D) Whether above or below the

competitive level of price

depends on the elasticity of

demand for output and supply

of input

4. ckseksyP;k foÿh izkIrh egŸkehdj.kkP;k
flºkUrkr m|ksx laLFkk foÿh izkIrh d/kh egŸke
djsy \

(A) tj u∂;kph e;kZnk dk;Zjr ulsy

(B) tj u∂;kph e;kZnk dk;Zjr vlsy

(C) tj uQk egŸke vlsy

(D) tj tkfgjkr [kpkZoj e;kZnk vlsy

5. cV™±MP;k f}tukf/kdkjkP;k izfrekukr leuQk
oÿ gs %

(A) T;k v{kkoj fdaer ekstysyh vlrs R;kyk
vkarj~oÿ vlrkr

(B) T;k v{kkoj fdaer ekstysyh vlrs R;kyk
cfgj~oÿ vlrkr

(C) T;k v{kkoj mRiknu ekstysyh vlrs
R;kyk vkarj~oÿ vlrkr

(D) T;k v{kkoj mRiknu ekstysys vlrs R;kyk
cfgj~oÿ vlrkr

6. tj cktkjkr eDrsnkjh vkf.k ,dÿ;kf/kdkj
lŸkk vlsy rj mRiknu ?kVdkph lerksy
fdaer %

(A) Li/kk ZRed fdaer ikrˇhP;k [kkyh
vlsy

(B) Li/kkZRed fdaer ikrˇhP;k oj vlsy

(C) Li/kkZRed fdaer ikrˇh,o<h vlsy

(D) Li/kkZRed fdaer ikrˇhP;k oj vlsy
dk [kkyh vlsy gs mRiknukP;k ekx.khph
fdaer yofpdrk vkf.k mRiknu
?kVdkP;k iqjoBÓkph fdaer yofpdrk
;koj voyacwu vlsy
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7. Bergson’s social indifference curve is

a locus of :

(A) Utility of commodity X and Y

(B) Utility of individual A and B

(C) Wealth of individual A and B

(D) Income of individual A and B

8. Assertion (A) : If two points (A) and

(B) are Pareto efficient it is

impossible to rank them by Pareto

superiority.

Reason (R) : Pareto efficient

allocation has the property that

there is no feasible allocation that

is Pareto efficient.

(A) Both (A) and (R) are correct and

(R) is a correct explanation

of (A)

(B) Both (A) and (R) are correct but

(R) is incorrect explanation

of (A)

(C) (A) is incorrect but (R) is

correct

(D) (A) is correct but (R) is

incorrect

9. (I) In a NASH equilibrium each

player is making the best

response to the other player’s

best response.

(II) In dominant strategy each

player’s choice is the best

response to any choice of the

other players.

(A) (I) is correct but not (II)

(B) (II) is correct but not (I)

(C) Both (I) and (II) are correct

(D) Both (I) and (II) are incorrect

7. cxZlups lkekftd leòŸkh oÿ gs ;kps fcanwiFk

vlrkr %

(A) X vkf.k Y oLrwaph mi;ksfxrk

(B) A vkf.k B O;Drhph mi;ksfxrk

(C) A vkf.k B O;Drhph laiŸkh

(D) A vkf.k B O;Drhps mRiUu

8. fo/kku (A) % tj (A) vkf.k (B) gs nksu
fcanw iWjsVk s dk;Z{ke vlrhy rj iWjsVk s
Js"Brersuqlkj R;kaph ÿeokjh ykoyk ;s.ks
v'kD; vlrs-

dkj.k (R) % iWjsVks dk;Z{ke okVikps oSf'k"VÓ
vls vkgs dh ;k[ksjht nqljs iWjsVks dk;Z{ke
okVi 'kD; ulrs-

(A) (A) vkf.k (R) nksUgh cjkscj vkf.k (R)
gs (A) ps ;ksX; Li"Vhdj.k

(B) (A) vkf.k (R) nksUgh cjkscj i.k (R)
gs (A) ps pqdhps Li"Vhdj.k

(C) (A) pwd i.k (R) cjkscj

(D) (A) cjkscj i.k (R) pwd

9. (I) uW'kP;k lerksykr izR;sd [kš kMw gk brj
[k sˇkM w aP;k vl.kkÚ;k lok s Z Rœ"V
izfrlknkyk Lor%P;k vl.kkÚ;k loksZRœ"V
izfrlknkph fuoM djrks-

(II) izHkko'kkyh O;wgjpusr izR;sd [ksˇkMw
brj [ksˇkMwaP;k dqBY;kgh fuoMhyk
Lor%P;k vl.kkÚ;k loksZRœ"V izfrlknkph
fuoM djrks-

(A) (I) cjkscj i.k (II) pwd

(B) (II) cjkscj i.k (I) pwd

(C) (I) vkf.k (II) nksUgh cjkscj

(D) (I) vkf.k (II) nksUgh pwd
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10. Simplex method in linear

programming is :

(A) Simultaneous equation method

(B) Iteration method

(C) Simple regression method

(D) Graphical method

11. Match the following and choose the

correct answer from the codes given

below :

List I List II

(a) George (i) Revealed

Stigler preference

theory

(b) Samuelson (ii) Indifference

curve

(c) Marshall (iii) Economics of

information

(d) Edgeworth (iv) Cardinal

utility

(v) Game theory

Codes :

(a) (b) (c) (d)

(A) (iii) (i) (iv) (ii)

(B) (v) (i) (iv) (iii)

(C) (iv) (i) (iii) (ii)

(D) (iv) (ii) (i) (iii)

12. Which of the following is true about

the indifference curves where one

commodity (such as pollution) is ‘bad’

and the other commodity is ‘good’.

(A) It has a negative slope

(B) It has a positive slope

(C) It is horizontal

(D) It is vertical

10. js"kh; izrhixeukr flEiysDl iºr gh %

(A) ledkfyd lehdj.k iºrh

(B) iqujko`Ÿkh iºrh

(C) lk/kh izrhixeu iºrh

(D) vkys[k iºrh

11. tksMÓk ykok vkf.k mfpr i;kZ; fnysY;k

ladsrkadkaeËkwu fuoMk %

;knh I    ;knh II

(a) tkWtZ fLVXyj (i) izdV ilarh

flºkUr

(b) lWE;qvYlu (ii) leo`Ÿkh oÿ

(c) ek'kZy (iii) ekfgrhps

vFkZ'kkL=

(d) ,toFkZ (iv) vadn'khZ

mi;ksfxrk

(v) [ksˇ flºkUr

ladsrkad %

(a) (b) (c) (d)

(A) (iii) (i) (iv) (ii)

(B) (v) (i) (iv) (iii)

(C) (iv) (i) (iii) (ii)

(D) (iv) (ii) (i) (iii)

12. tsOgk nksu oLrwaiSdh ,d oLrq (mnk- iznw"k.k)

^okbZV* vlsy vkf.k nqljh oLrw ^pkaxyh* vlsy

rj v'kk oLrwaP;k leo`Ÿkh oÿkaP;k ckcrhr

[kkyhyiSdh dk; [kjs vlrs \

(A) ;kph izo.krk Ω.k vlrs

(B) ;kph izo.krk /ku vlrs

(C) gk {k v{kkP;k lekarj vlrks

(D) gk f{kfrtyac vlrks
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13. Suppose in the short run labour is

the only variable factor of

production. Let W denote the wage

rate. The relationship between

marginal product of labour (MPL)

and marginal cost (MC) is given

by :

(A)
L

W
MC =

MP

(B)
LMP

MC =
W

(C) LMC = W * MP

(D) LMC = W MP+

14. In the Edgeworth box :
(A) The contract curve is a subset

of the core
(B) The competitive equilibrium is

in the core and therefore on
contract curve

(C) The competitive equilibrium is
on the contract curve but not
in the core

(D) The competitive equilibrium is
off the contract curve

15. Suppose consumer’s income, Y = 100,
price of Y is 2, price of X is 4. A tax
is imposed on X from 11th units
onwards. The budget line then :
(A) Will shift leftwards after 10

units
(B) Will shift rightwards after 10

units
(C) Will became flatter after 10

units
(D) Will became steeper after 10

units

13. letk vYidkˇkr Jfed gkp ,d mRiknukpk

cnyrk ?kVd vlsy W us osrunjkpk funsZ'k

d:- Jfedkps lhekUr mRiknu Qy (MPL)

vkf.k lhekUr [kpZ (MC)  ;krhy laca/k vlk

vlrks %

(A)
L

W
MC =

MP

(B)
LMP

MC =
W

(C) LMC = W * MP

(D) LMC = W MP+

14. ,toFkZP;k isVhr %

(A) djkjoÿ gk dksvj (core) pk milap

vlrks

(B) Li/kkZRed lerksy gk dksvj e/ks vlrks

vkf.k Eg.kwu djkj oÿkoj vlrks-

(C) Li/kkZRed lerksy djkjoÿkoj vlrks

i.k ^dksvj* e/ks ulrks

(D) Li/kkZRed lerksy djkjoÿkP;k ckgsj

vlrks

15. letk miHkksDR;kps mRiUu Y = 100, Y ph

fdaer = 2, X ph fdaer ifgY;k 10 uxkauk

4 vlsy vkf.k 11O;k uxkiklwu X oj dj

yknyk vlsy] rj vankti=d js"kk %

(A) 10O;k uxkuarj MkohdMs ljdsy

(B) 10O;k uxkuarj mtohdMs ljdsy

(C) 10O;k uxkuarj iljV gkssbZy

(D) 10O;k uxkuarj p<h gksbZy
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16. In IS-LM model, Government

expenditure multiplier is :

(A) Smaller than simple Keynesian

model

(B) Equal to simple Keynesian

model

(C) Longer than simple Keynesian

model

(D) Always infinite

17. Select the right answer from the

options given below :

However large may be the saving

rate, per capita output growth of the

economy stops in the slow growth

model.

(A) Because all savings go for

replacement investment

(B) Because of diminishing

marginal productivity of capital

(C) Because of too rapid techno-

logical progress

(D) Because labour become scarce

18. Aggregate demand curve in

Keynesian model shifts rightwards

if :

(A) Government expenditure is cut

(B) Autonomous investment

declines

(C) Money supply is increased

(D) Tax is cut

16. IS-LM izfrekukr 'kkldh; [kpZ xq.kd gs %

(A) lk/ks dsUlizf.kr izfrekukis{kk deh

vlrs

(B) lk/ks dsUlizf.kr izfrekuk cjkscj vlrs

(C) lk/ks dsUlizf.kr izfrekukis{kk vf/kd

vlrs

(D) usgehp ve;kZfnr vlrs

17. [kkyhy i;kZ;kaiSdh ;ksX; i;kZ;kph fuoM

djk %

lksyks òºh izfrekukr cprhpk nj fdrhgh tkLr

vlyk rjh dks.kR;k dkj.kkeq̌ s vFkZO;oLFksP;k

njMksbZ mRiknu o`ºhl [khˇ clrks-

(A) xaqro.kqdhP;k iquLFkkZiuslkBh loZp cprh

oˇfo.;kr vkY;kus

(B) HkkaMoykP;k ?kVR;k flekar mRikndrseq š

(C) tyn rkaf=d izxrheq š

(D) JfedkaP;k derjrseq š

18. dsUliz.khr izfrekukr ldy ekx.kh oÿ

mtohdMs ljdsy tj %

(A) 'kkldh; [kpkZr dikr >kyh rj

(B) Lok;Ÿk xqaro.kqdhr ?kV >kyh rj

(C) iS'kkpk iqjoBk ok<yk rj

(D) dj dikr >kyh rj
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19. If savings function is given as

S = – 40 + 0.2  Y and investment

is given as I 80= , a rise in

autonomous savings by 20 will lead

to a risk in income of :

(A) 60

(B) 70

(C) 90

(D) 100

20. In permanent income hypothesis,

transitional income has :

(A) Positive and high correlation

with permanent income

(B) Zero correlation with

permanent income

(C) Positive and low correlation

with permanent income

(D) Negative correlation with

permanent income

19. letk] cpr Qyu S = – 40 + 0.2  Y

vls fnys vlsy vkf.k xqaro.kqd I 80=

vlsy] rj Lok;Ÿk cprhr 20 #- us ok<

>kY;kl mRiUukrhy ok< [kkyhyiSdh fdrhus

gksbZy \

(A) 60

(B) 70

(C) 90

(D) 100

20. LFkk;h mRiUu ifjdYiusr laÿe.kkoLFksrhy

mRiUukpk %

(A) LFkk;h mRiUuk'kh /ku vkf.k mPp lglacaËk

vlrks

(B) LFkk;h mRiUuk'kh 'kwU; lglacaËk vlrks

(C) LFkk;h mRiUuk'kh /ku vkf.k fuEu lglacaËk

vlrks

(D) LFkk;h mRiUuk'kh Ω.kkRed lglacaËk

vlrks
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21. Select the right answer from the

options A to D given below :

Assertion (A) : When workers

understand the impact of policy and

form expectations accordingly, price

expectation influences the actual

inflation rate and neutralizes the

policy.

Reasoning (R) : Wage rate is set

according to the level of

unemployment and workers’

expectation keeping parity with

expected prices. Thus price level

becomes dependent on expected

prices. Therefore, an effort be reduce

unemployment below material rate

is likely to bring more inflation.

(A) (A) is incorrect and (R) is correct

(B) (A) is correct and (R) is incorrect

(C) (A) is correct and (R) is correct

(D) (A) is incorrect and (R) is

incorrect

21. [kkyhy A rs D ;k i;kZ;kae/kqu ;ksX; mŸkjkph

fuoM djk %

lqLi"V fo/kku (A) % tsaOgk Jfedkauk

Ëkksj.kkaP;k izHkkokps Kku gksrs vkf.k R;kuqlkj

rs vis{kkaph cka/k.kh djrkr] rsaOgk izR;{k

eqÊkfLQrh njkoj fdaer vis{kkapk ifj.kke gksr

vlY;kus /kksj.k fu"izHk gksrs-

dkj.kfeekalk (R) % csjkstxkjhP;k ikrˇhuqlkj

osru njkph fuf'prh dsY;kl vkf.k visf{kr

fdaerhlkscr JfedkaP;k vis{kkaph tqˇo.kh

>kY;kl] fdaerhph ikrˇh visf{kr fdaerhaoj

voyacwu jkghy- R;keqˇs uSlfxZd njkis{kk

csjkstxkjhpk nj deh dj.;kP;k iz;Rukr

eqÊkfLQrhpk nj ok<w 'kdsy-

(A) (A) pwd vkf.k (R) cjkscj

(B) (A) cjkscj vkf.k (R) pwd

(C) (A) cjkscj vkf.k (R) cjkscj

(D) (A) pwd vkf.k (R) pwd
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22. Select the correct match from the

following by using codes given below :

(a) Real Balance (i) A.W.

Effect Phillips

(b) Neo-classical (ii) A.C. Pigou

growth model

(c) Inflation- (iii) R. Solow

unemploy-

ment trade-off

(d) Knife-edge (iv) R. Harrod

instability

Codes :

(a) (b) (c) (d)

(A) (i) (ii) (iii) (iv)

(B) (ii) (iii) (i) (iv)

(C) (iv) (iii) (ii) (i)

(D) (iii) (i) (iv) (ii)

23. The important leakages in the

circular flow of income are as follows

except :

(A) Savings

(B) Government expenditure

(C) Imports

(D) Taxes

22. fuEufunsZ'khr lkadsrkadkpk mi;ksx d:u ;ksX;

tksMhph fuoM djk %

(a) okLro f'kYyd (i) ,-MCyq-

ifj.kke fQfyIl

(b) uo&lukruoknh (ii) ,-lh- fixw

o`ºh izfreku

(c) eqÊkfLQrh&csjkstxkj (iii) vkj- lksyks

leewY;u

(d) vfLFkj vlarqyu (iv) vkj- gsjkWM

(Knife-edge instability)

lkadsrkad %

(a) (b) (c) (d)

(A) (i) (ii) (iii) (iv)

(B) (ii) (iii) (i) (iv)

(C) (iv) (iii) (ii) (i)

(D) (iii) (i) (iv) (ii)

23. [kkyhyiSdh mRiUukP;k pÿh; izokgkrhy

egRokP;k xˇrhiSdh dks.krk ?kVd lekfo"V

gksr ukgh \

(A) cpr

(B) 'kkldh; [kpZ

(C) vk;kr

(D) dj
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24. If an increase in aggregate

expenditure results in no increase

in real NNP, we can surmise that

the :

(A) Price level has fallen

(B) Economy is already operating at

full employment

(C) MPC equals one

(D) Economy is in a deep recession

25. Keynes contribution is essentially :

(A) Long run growth problems

(B) Relative price determination

theory

(C) Short run theory of income and

employment

(D) Long run theory of income and

employment

26. When the economy is at full

employment, any increase in

aggregate demand will cause :

(A) Inflation

(B) Depression

(C) Deflation

(D) Recession

27. The ratio of consumption to

income :

(A) Marginal Revenue

(B) Marginal Propensity to

Consume

(C) Average Revenue

(D) Average Propensity to Consume

24. ldy [kpkZr ok< >kY;kl okLrfod fuOoˇ

jk"V™h; mRiknu u ok<Y;kl vki.k vls x`fgr
/k: 'kdrks dh %

(A) fdaer Lrjkr ?klj.k >kyh

(B) vFkZO;oLFkk gh iw.kZ jkstxkjkoj fÿ;k'khy
>kysyh vkgs-

(C) flekar miHkksx izo`Ÿkh ,dk cjkscj vkgs

(D) vFkZO;oLFkk xaHkhj Lo:ikP;k lkSE; eanhr
vkgs-

25. dsUl ;kaps ;ksxnku eq[;Rosd:u [kkyhyiSdh
dks.kR;k ckcha'kh lacaf/kr vkgs \

(A) nh?kZdkyhu o`ºh leL;k

(B) lkis{k fdaer fu/kkZj.k flºkar

(C) mRiUu vkf.k jkstxkjkpk vYidkyhu
flºkar

(D) mRiUu vkf.k jkstxkjkpk nh?kZdkyhu
flºkar

26. vFkZO;oLFkk iw.kZ jkstxkjkP;k fLFkrhr vlY;kl]
ldy ekx.khrhy ok<hpk ifj.kke [kkyhyiSdh
dks.kR;k ?kVdkoj gksbZy \

(A) eqÊkfLQrh

(B) eanh

(C) fdaer ladksp

(D) lkSE; eanh

27. miHkksx&mRiUu xq.kksŸkj [kkyhyiSdh d'kkus
n'kZfork ;sbZy \

(A) flekar eglwy

(B) flekar miHkksx izo`Ÿkh

(C) ljkljh eglwy

(D) ljkljh miHkksx izo`Ÿkh
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28. If the MPC is 0.6, the investment

multiplier will be :

(A) 1.67

(B) 2.5

(C) 6.0

(D) 4.0

29. The principle that investment

depends on the change in

consumption :

(A) Multiplier Principle

(B) Accelerator Principle

(C) Super Multiplier

(D) Investment Multiplier

30. Which of the following is true for a

consumption line passing through

the origin ?

(A) APC = MPC

(B) APC > MPC

(C) APC < MPC

(D) APC = MPS

28. flekar miHkksx izo`Ÿkhps ewY; 0-6 vlY;kl]

xaqro.kwd xq.kdkps ewY; [kkyhyiSdh dks.krs

jkghy \

(A) 1.67

(B) 2.5

(C) 6.0

(D) 4.0

29. [kkyhyiSdh dks.krs rRo xaqro.kwd gs miHkksxkrhy

cnykaojhy voyafcRo n'kZfors \

(A) xq.kd rRo

(B) izosx rRo

(C) Êqr xq.kd

(D) xaqro.kwd xq.kd

30. mxe LFkkukrwu miHkksx js"kk xsY;kl [kkyhyiSdh

dks.krk i;kZ; ;ksX; Bjrks \

(A) lmiz = flmiz

(B) lmiz > flmiz

(C) lmiz < flmiz

(D) lmiz = flmi
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31. Match List I and List II and choose

the correct answer from the codes

given below :

List I List II

(i) Sustain- (1) Less

ability poverty

and

deprivation

(ii) Development (2) Less environ-

mental

destruction

(iii) Inclusion (3) Less dispa-

rity

within and

between

nations

(iv) Equity (4) Less margi-

nalisation

of people and

countries

Codes :

(i) (ii) (iii) (iv)

(A) (1) (2) (3) (4)

(B) (2) (1) (4) (3)

(C) (4) (3) (2) (1)

(D) (2) (4) (3) (1)

32. The Lewis model of development is

applicable to an economy where

there is :

(A) technological advancement

(B) rapid population growth

(C) abundance of labour over

requirement

(D) surplus of capital

31. ;knh I o II e/;s tksMÓk ykok vkf.k ;ksX;

i;kZ; fnysY;k ladsrkadkae/kwu fuoMk %

   ;knh I ;knh II

(i) fpjLFkkf;Ÿo (1) deh nkfjÊÓ vkf.k

oafpri.kk

(ii) fodkl (2) i;kZoj.kkpk deh

izek.kkr fouk'k

(iii) lok±pk (3) ns'kkUrxZr o

lekos'k vkUrnsZ'kh;

ikrˇhoj deh

fo"kerk

(iv) lerk (4) yksdkaps o ns'kkaps

deh ijh/khdj.k

ladsrkad

(i) (ii) (iii) (iv)

(A) (1) (2) (3) (4)

(B) (2) (1) (4) (3)

(C) (4) (3) (2) (1)

(D) (2) (4) (3) (1)

32. fodklkps yqbZl izfreku gs--------------------------

vlysY;k vFkZO;oLFksyk ykxw gks≈ 'kdrs-

(A) ra=KkukRed izxrh

(B) osxoku yksdla[;k o`ºh

(C) t:jhis{kk Jekph vf/kd miyC/krk

(D) HkkaMoykps vkf/kD;
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33. Which are the two gaps affecting

growth process of on economic

system in the two gap model of

growth ?

(A) Export gap and import gap

(B) Savings gap and investment

gap

(C) Foreign exchange gap and

domestic saving gap

(D) Income gap and consumption

gap

34. Dependency models of development

examine :

(A) The interaction between a

developed and an under-

developed economy

(B) How an underdeveloped

economy eliminates poverty

through foreign aid

(C) How underdeveloped countries

depends on each other for

mutual gains from trade

(D) How the economies of certain

countries are conditioned by the

development and expansion of

another economy to which the

former is subjected

33. o`ºhP;k nksu&rQkor izfrekukr] ,[kknÓk

vFkZiz.kkyhP;k o`ºh izfÿ;soj izHkko ikM.kkÚ;k

nksu rQkorh dks.kR;k \

(A) fu;kZr rQkor vkf.k vk;kr rQkor

(B) cpr rQkor vkf.k xq aro.k wd

rQkor

(C) ijdh; pyu rQkor vkf.k

ns'kkUrxZr cpr rQkor

(D) mRiUu rQkor vkf.k miHkk sx

rQkor

34. fodklkP;k ijkoyafcRo izfrekukae/;s dk;

riklys tkrs \

(A) ,dk fodflr vkf.k ,dk vYifodflr

vFkZO;oLFkse/khy ijLij O;ogkj

(B) ,[kknh vYifodflr vFkZO;oLFkk fons'kh

lkgÓkeq š nkfjÊÓ fueZwyu d'kh djrs

(C) vYifodflr ns'k O;kikjkrwu ijLij ykHk

feˇfo.;klkBh ,desdkaoj dls voyacwu

jkgrkr-

(D) dkgh ns'kkaP;k vFkZO;oLFkkaoj nqlÚ;k ,dk

vFkZO;oLFksP;k fodklkpk vkf.k

 foLrkjkpk ifj.kke vlk gksrks] tsOgk

r s n s'k ;k n s'k kP;k g qd qek[kkyh

vlrkr-
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35. The theory of unequal exchange was

proposed by :

(A) H. Singer

(B) J.K. Galbraith

(C) A. Emmanuel

(D) P. Rosenstein-Rodan

36. Trade barriers imposed by developed

nations :

(A) are contrary to the spirit of free

trade

(B) support a free trade regime

(C) used to correct unfair terms of

trade

(D) support the regime of fair trade

37. Which of the following is not implied

by the concept of sustainability of

development ?

(A) Inter-generational equity be

maintained in the use of

resources

(B) Stock of natural capital cannot

be allowed to decline

(C) Social capital deteriorates due

to overuse of resources

(D) Regeneration rate and usage

rate of resources must maintain

equilibrium for preserving

resources

35. fo"ke fofue;kpk flºkar dks.kh ekaMyk \

(A) ,p- flaxj

(B) ts-ds- xWycszFk

(C) ,- beWU;q,y

(D) ih- jks>uLVkbu&jksMku

36. fodflr ns'kk auh yknysys O;kikjkrhy

vMFk š %

(A) [kqY;k O;kikjkP;k rŸokP;k fojks/kkr

vkgsr

(B) [kqY;k O;kikjkP;k O;oLFksyk vk/kkj

nsrkr

(C) O;kikjkP;k vU;k∏; ewY;rqY;rk njkoj

mik; djrkr

(D) U;k∏; O;kikjkP;k O;oLFksyk vk/kkj

nsrkr

37. fodklkP;k fpjLFkkf;ŸokP;k ladYiusr

iq<hyiSdh dks.krs vfHkizsr vlr ukgh \

(A) lk/kulkexzhP;k okijkr fi<Ók&fi<ÓkaeËkhy

lersps j{k.k dsys tkrs

(B) uSlfxZd HkkaMoykP;k lap;kyk deh gks≈

ns≈ u;s

(C) lk/kulkexzhpk vfrfjDr okij >kY;keq̌ s

lkekftd HkkaMoy deh gksrs

(D) lk/kulkex z h fVdo.;klkBh]

lkËkulkexzhpk iqu#Tthou nj vkf.k

mi;ksxkpk nj ;kaP;kr larqyu jk[kys

ikfgts
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38. Budgetary support for financing

plan outlays of public sector

enterprises is provided by

Government of India through :

(A) Grants-in-aid

(B) Subsidies

(C) Investment in share capital

(D) Disinvestment

39. All revenue received by Government

of India, loans raised by it and also

receipts from recoveries of loans

granted by it from :

(A) Public Provident Fund

(B) National Investment Fund

(C) National Small Saving Fund

(D) Consolidated Fund

40. Effective Revenue Deficit is the

difference between :

(A) Total Revenue and Total

Expenditure

(B) Revenue Deficit and grants for

creation of asset

(C) Fiscal Deficit and interest

payments

(D) Plan expenditure and Non-plan

expenditure

38. lkoZtfud {k s=krhy m|k sxk aP;k ;k stuk

ifjO;;kph foŸkO;oLFkk dj.;klkBh Hkkjr

ljdkjdMwu vFkZladYih; vk/kkj dks.kR;k

ekxkZus dsyk tkrks \

(A) lgk∏;d vuqnkus ns≈u

(B) vFkZlgk∏; ns≈u

(C) Hkkx HkkaMoykr xqaro.kwd d:u

(D) fuxq±ro.kwd d:u

39. Hkkjr ljdkjyk loZekxkZus feˇkysyk eglwy]

R;kauh dk<ysyh dtsZ vkf.k R;kauh fnysY;k

dtkZph >kysyh olqyh b- eglwy dqBs tek

dsyk tkrks \

(A) lkoZtfud Hkfo";fuokZg fuf/k

(B) jk"V™h; xaqro.kwd fuf/k

(C) jk"V™h; vYi cpr fuf/k

(D) ,df=r fuf/k

40. [kkyhyiSdh dks.kR;k nskgkssarhy Qjdkyk izHkkoh

eglwyh rwV Eg.krkr \

(A) ,dw.k eglwy vkf.k ,dw.k [kpZ

(B) eglwyh rwV vkf.k HkkaMoy fufeZrh lkBhph

vuqnkus

(C) jktdks"kh; rwV vkf.k O;ktkps Hkqxrku

(D) ;kstuk [kpZ vkf.k ;kstusrj [kpZ
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41. Government of India introduced the

Market Stabilization Scheme in the

year :

(A) April, 2005

(B) April, 2004

(C) April, 2003

(D) March, 2002

42. Which one of the following is

distributed under the Article 293 of

the Constitution of India ?

(A) Plan Grants

(B) Grants-in-aid

(C) Proceeds of union taxes

(D) Loan

43. 13th Finance Commission

recommended states’ share in the

net proceeds of central taxes at :

(A) 29.5 percent

(B) 30.0 percent

(C) 32.0 percent

(D) 32.5 percent

41. Hkkjr ljdkjus cktkj fLFkjhdj.k ;kstuk

dks.kR;k o"kkZ lq: dsyh \

(A) ,izhy] 2005

(B) ,izhy] 2004

(C) ,izhy] 2003

(D) ekpZ] 2002

42. Hkkjrh; jkT;?kVusP;k 293 dyekUo;s dks.kR;k

foŸkh; lk/kukaps okVi dsys tkrs \

(A) ;kstuk vuqnkus

(B) lgk∏;d vuqnkus

(C) dsaÊh; djkapk eglwy

(D) dtZ

43. 13O;k foŸk vk;ksxkus dsaÊ ljdkjP;k fuOoˇ

dj eglwykrhy fdrh fgLlk jkT;kauk okVi

dj.;kph f'kQkjl dsyh \

(A) 29.5 VDds

(B) 30.0 VDds

(C) 32.0 VDds

(D) 32.5 VDds
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44. A : According to Adam Smith

International Trade takes place

on the basis of comparative

advantage.

B : The principle of absolute

advantage is at the focal point

of David Ricardo’s theory of

International Trade.

Make the correct choice :

(A) Statement (A) is incorrect and

Statement (B) is correct

(B) Statement (A) is correct and

Statement (B) is incorrect

(C) Both the statements (A) and (B)

are correct

(D) Both the statements (A) and (B)

are incorrect

45. Which of the following definition is

the correct definition of ‘Production

Possibility Frontier’ ?

(A) It is the curve showing least

possible cost levels of producing

two commodities

(B) It is the curve showing highest

production level in the given

situation

(C) It is the curve showing

alternative combinations of two

commodities that a nation can

produce under the given

technology and given resources

(D) It is the curve showing various

ratios of exchange of two

commodities, by two trading

nations

44. A : vWMe fLeFkP;k ers vkarjjkf"V™; O;kikj

rqyukRed ykHkkP;k vk/kkjs ?kMwu ;srks-

B : fuOoˇ ykHk rRo gs MsfoM fjdkWMksZP;k

vkarjjk"V™h; O;kikj flºkarkpk eq[;

eqn~nk vkgs-

(A) fo/kku (A) pwd vkgs vkf.k fo/kku (B)

cjkscj vkgs

(B) fo/kku (A) cjkscj vkgs vkf.k fo/kku (B)

pwd vkgs

(C) (A) vkf.k (B) gh nksUgh fo/kkus cjkscj

vkgsr

(D) (A) vkf.k (B) gh nksUgh fo/kkus pwd

vkgsr

45. [kkyhyiSdh dks.krh O;k[;k mRiknu 'kD;rk

oÿkph vpwd O;k[;k vkgs \

(A) nksu oLrwaP;k mRiknukpk U;wure 'kD;

O;; n'kZfo.kkjk oÿ-

(B) izkIr ifjfLFkhrhr tkLrhr tkLr mRiknu

ikrˇh n'kZfo.kkjk oÿ-

(C) izkIr ra=Kku vkf.k lalk/kuka varxZr ns'k

mRiknhr d: 'kd.kkÚ;k nksu oLrwaps

i;kZ;h la;ksx n'kZfo.kkjk oÿ gks;

(D) nksu O;kikjh ns'kkaP;k nksu oLrawP;k

fofue;kps fofo/k xq.kksŸkjs n'kZfo.kkjk oÿ

gks;-
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46. A curve showing the quantity of its

imported commodity that the nation

demands in exchange of the supply

of various quantities of export is

called as :

(A) Lorenz curve

(B) Offer curve

(C) Production Possibility Curve

(D) Laffer curve

47. The terms of trade of a nation is

defined as :

(A) The ratio of costs of production

of export commodity to that of

the cost of production of import

commodity

(B) The ratio of the price of its

export commodity to that of its

import commodity

(C) The ratio of growth rate of the

production of export commodity

to that of the import commodity

(D) The ratio of factors used in

production in export commodity

to that of the factors used in

import commodity

48. The term ‘Autarky’ in International

trade refers to :

(A) Total absence of trade

(B) Optimum trade

(C) A point of trade saturation

(D) Trade leading to huge losses

46. fu;kZr iqjoBÓkP;k fofo/k ek=kaP;k cnY;kl

vk;krhdjhrk vl.kkjh ekx.kh n'kZfo.kkjk

oÿkl-----------------------------vls Eg.krkr-

(A) ykjsa> oÿ

(B) ns;rk oÿ

(C) mRiknu 'kD;rk oÿ

(D) yWQj oÿ

47. ns'kkP;k eqY; rqY; njkph O;k[;k v'kh dsyh

tkrs %

(A) fu;kZr oLrwP;k mRiknu O;;k'kh vk;kr

oLrwP;k mRiknu O;;kps izek.k

(B) ns'kkP;k fu;kZr oLrw fdaerhps vk;kr oLrw

fdaerh'kh vl.kkjs izek.k

(C) fu;kZr oLrw mRiknu o`fºps vk;kr oLrw

mRiknu o`fº'kh izek.k

(D) fu;kZr oLrww mRiknukr okijysY;k ?kVdkaps

vk;kr oLr w mRiknukr okijysy s

izek.k

48. vkarjjkf"V™; O;kikjkr ns'kkph ^^O;kikj fojghr

fLFkrh** gh ladYiuk vls lwfpr djrs

dh-

(A) O;kikjkph iw.kZ vuqifLFkrh

(B) i;kZIr O;kikj

(C) O;kikj lar`Irh fcanw

(D) O;kikjkrwu izpaM rksVk
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49. The curve showing various trade

situations providing equal welfare to

a nation is called :

(A) Trade offer curve

(B) Phillips curve

(C) J-curve

(D) Trade indifference curve

50. Intra-Industry trade at the

international level implies :

(A) That the trade in the

homogeneous products of the

different industry

(B) That the trade in the

differentiated products of the

same industry

(C) That the trade in the

differentiated products of the

different industry

(D) That the trade in the

homogeneous products of the

same industry

51. The call money market determines :

(A) the long-term interest rate

(B) the short-term interest rate

(C) cost of bank credit

(D) rate on inter-bank one day

borrowing

49. O;kikjkP;k fofo/k ifjfLFkrhr ns'kkyk leku

dY;k.k izkIrh n'kZfo.kkÚ;k oÿkl---------------

vls Eg.krkr-

(A) O;kikj ns;rk oÿ

(B) fQyhIl oÿ

(C) J-oÿ

(D) O;kikj rVLFkrk oÿ

50. vkarjjkf"V™; ikrˇhojhy m|ksxkarxZr O;kikjrwu

vls lqfpr gksrs %

(A) fofo/k m|ksxkaP;k ,dftu'kh mRiknukapk

O;kikj

(B) leku m|ksxkaP;k HksntU; mRiknukapk

O;kikj

(C) fofo/k m|ksxkaP;k HksntU; mRiknukapk

O;kikj

(D) leku m|ksxkaP;k ,dftulh mRiknukapk

O;kikj

51. ekx.khns; pyu cktkjkr----------------------------ph

fuf'prh gksrs-

(A) nh?kZdkyhu O;kt nj

(B) vYidkyhu O;kt nj

(C) c°d dtkZps ewY;

(D) vkarjc°dkapk ijLijkrhy ,d fnolh;

dtkZojhy nj
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52. The economic function of a financial

intermediary is to :

(A) Finance the working capital

requirements of firms

(B) Transfer funds from surplus

units to deficit units

(C) Give credit for consumer

durables

(D) Regulate the capital market

53. A Mutual Fund is a Financial

Product which is available in :

(A) the corporate bond market

(B) the stock exchange

(C) the money market

(D) the capital market

54. The credit creation process in the

economy requires :

(A) an individual commercial bank

(B) the whole commercial banking

system

(C) the central bank

(D) the co-operative bank network

55. Find the correct chronological order

from the following :

(A) IFCI, IDBI, ICICI, SIDBI

(B) IFCI, ICICI, IDBI, SIDBI

(C) SIDBI, IFCI, ICICI, IDBI

(D) IDBI, ICICI, IFCI, SIDBI

52. foŸkh; e/;LFkkps vkfFkZd dk;Z Eg.kts %

(A) mRiknu laLFkkauk [ksˇR;k HkkaMoykpk

foŸkiqjoBk dj.ks

(B) f'kYydh fu/kh vl.kkÚ;kadMwu U;wu

fuËkh vl.kkÚ;kadMs fu/kh gLrkarfjr

dj.ks

(C) fVdk≈ xzkgdksi;ksxh oLrwalkBh dtZ

ns.ks

(D) HkkaMoy cktkjkps fu;eu dj.ks

53. E;qP;qvy QaM gs foŸkh; mRiknu----------------

--------------;sFks miyC/k vlrs-

(A) dkWiksZjsV jks[ks cktkj

(B) 'ksvj cktkj

(C) pyu cktkj

(D) HkkaMoy cktkj

54. vFkZO;oLFksr irfufeZrh izfÿ;slkBh---------------

----------------ph xjt vlrs-

(A) ,d O;kikjh c°d

(B) iw.kZ O;kikjh c°d ;a=.kk

(C) e/;orhZ c°d

(D) lgdkjh c°dkaps tk š

55. [kkyhyiSdh dks.krk ÿe dkyÿekuqlkj cjkscj

vkgs \

(A) IFCI, IDBI, ICICI, SIDBI

(B) IFCI, ICICI, IDBI, SIDBI

(C) SIDBI, IFCI, ICICI, IDBI

(D) IDBI, ICICI, IFCI, SIDBI
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56. (i) NABARD carries out the

function of refinancing the long

term credit to industrial

projects.

(ii) NABARD took over the

functions of Agricultural

Refinance Development

Corporation.

What can you say about the

statements noted above ?

(A) Statement (i) is correct and

statement (ii) is incorrect

(B) Statement (i) is incorrect and

statement (ii) is correct

(C) Both statement (i) and

statement (ii) are incorrect

(D) Both statement (i) and

statement (ii) are correct

56. (i) NABARD vk S|k s fxd i zdYik auk

nh?kZeqnrh dtkZlkBh iqufoZŸk O;oLFkk

dj.;kps dk;Z djrs-

(ii) 'ksrh iqufoZŸk fodkl egkeaMˇkph dk;sZ

NABARD us vkiY;kdMs ?ksryh-

ojhy fo/kkuka fo"k;h vki.k dk; lkaxw

'kdky \

(A) fo/kku (i) cjkscj vkgs vkf.k fo/kku (ii)

pwd vkgs

(B) fo/kku (i) pwd vkgs vkf.k fo/kku (ii)

cjkscj vkgs

(C) nksUghgh fo/kku (i) vkf.k fo/kku (ii)

pqdhph vkgsr

(D) nksUghgh fo/kku (i) vkf.k foËkku (ii) cjkscj

vkgsr
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57. The Rangarajan Committee (1993)

recommended that the percentage of

equity to be disinvested in industries

from public sector should be :

(A) 49%

(B) 74%

(C) 35%

(D) 26%

58. The ICOR of India’s Ninth Five Year

Plan was 4.53 and that of the Tenth

Five Year Plan was expected to be

3.58. This suggests :

(A) Higher efficiency of the

economy

(B) Lower efficiency of the economy

(C) Higher capital intensity of the

economy

(D) Lower capital intensity of the

economy

57. lkoZtfud {ks=krhy m|ksxkae/khy HkkxHkkaMoky

fuxq±ro.kqdhps fdrh izek.k vlkos vls jaxjktu

lferhus (1993) lqpfoys \

(A) 49%

(B) 74%

(C) 35%

(D) 26%

58. Hkkjrkr uoO;k iapokf"kZd ;kstusr lhekUr

HkkaMoy mRiknu xq.kksŸkj 4.53 gksrs] rj ngkO;k

iapokf"kZd ;kstusr rs 3.58 vlkos vls visf{kr

gksrs- ;ko:u vls lwfpr gksrs dh %

(A) vFkZO;oLFksph dk;Z{kerk ok<yh

(B) vFkZO;oLFksph dk;Z{kerk deh >kyh

(C) vFkZO;oLFksph HkkaMoy l?kurk ok<yh

(D) vFkZO;oLFksph HkkaMoy l?kurk deh

>kyh
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59. “Theory of Intergenerational Wealth

Flow” as Intergenerational transfer

of wealth as a key determinant of

fertility behaviour is proposed by :

(A) Coale and Hoover

(B) C. Hirschmann

(C) R. Easterline

(D) S. Caldwell

60. The author of “An Essay on the

Principle of Population” is :

(A) Marshall

(B) Malthus

(C) Boserup

(D) Lee

61. The Environment (Protection) Act,

was passed in India in :

(A) 1984

(B) 1986

(C) 1996

(D) 2006

59. laiŸkhP;k ,dk fi<hdMwu nqlÚ;k fi<hdMs

gks.kkÚ;k gLrkarj.kkyk iztuu&fuxfMr orZukyk

fuf'pr dj.kkjk dˇhpk ?kVd Eg.kwu dks.kh

izLrqr dsys \ (^^fi<Ók&fi<Ókae/khy laiŸkh

izokgkpk flºkar)

(A) dksy vkf.k gwoj

(B) lh- g'kZeu

(C) vkj- bZLVjyhu

(D) ,l- dkWYMosy

60. “An Essay on the Principle of

Population” ;k fuca/kkps ys[kd dks.k \

(A) ek'kZy

(B) ekYFkl

(C) cks>ji

(D) yh

61. Hkkjrkr i;kZoj.k (laj{k.k) dk;nk dks.kR;k

lkyh eatwj dj.;kr vkyk \

(A) 1984

(B) 1986

(C) 1996

(D) 2006
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62. The female-male ratio in the Indian

population showed a slight increase

between 1991 and 2001 due to :

(A) Increase in number of girls born

relative to boys

(B) Overall improvement in health

of women of all age groups

(C) Increasing proportion of higher

age groups in the population

(D) Rapid fall in the birth rate

63. (i) Both by the amount of

investment and the number of

projects the irrigation sector of

Maharashtra is one of the

largest in the country.

(ii) The irrigation attainment of

Maharashtra is almost less than

half of the overall irrigation

attainment in India.

(A) Statement (i) incorrect and the

statement (ii) is correct

(B) Both the statements (i) and (ii)

are correct

(C) Both the statements (i) and (ii)

are incorrect

(D) Statement (i) is correct and the

statement (ii) is incorrect

62. 1991 o 2001 P;k njE;ku] HkkjrkP;k

yksdla[;srhy L=h&iq#"k xq.kksŸkjkr fdafpr ok<

>kysyh fnlrs] dkj.k %

(A) eqykaP;k rqyusr tUekyk vkysY;k eqyhaph

la[;k ok<yh

(B) loZ o;ksxVkrhy fL=;kaP;k vkjksX;kr

lqËkkj.kk >kyh

(C) yksdla[;sr mPp o;ksxVkaps izek.k ok<ys

(D) tUe njkr osxkus ?kV >kyh

63. (i) xqaro.kqd vkf.k izdYila[;k ;k nksgksapk

lanHkkZr egkjk"V™kps tyflapu {ks= ns'kkr

lokZr eksBs vkgs-

(ii) egkjk"V™kph ,dw.k flapu lk/;rk

HkkjrkP;k lexz flapu lk/;rsP;k

toˇ&toˇ v/;kZis{kk deh vkgs-

(A) fo/kku (i) pwd vkf.k fo/kku (ii) cjkscj

vkgs

(B) nksUghgh fo/kku (i) vkf.k fo/kku (ii) cjkscj

vkgs

(C) nksUghgh fo/kku (i) vkf.k fo/kku (ii) pwd

vkgsr

(D) fo/kku (i) cjkscj vkf.k fo/kku  (ii) pwd

vkgs
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64. What can you say about the

following statements pertaining to

Indian agriculture ?

(i) The domestic production of

chemical fertilizers in India far

exceeds the consumption.

(ii) All the chemical fertilisers in

India are imported from abroad.

(A) Both the statement (i) and

statement (ii) are incorrect

(B) Both the statement (i) and

statement (ii) are correct

(C) Statement (i) is correct and

statement (ii) is incorrect

(D) Statement (i) is incorrect and

statement (ii) is correct

65. What can you say about the

operational landholding in Indian

agriculture ?

(i) Small holding category ranges

between 1 hectare and 2

hectares.

(ii) Large landholding are about

20% of the total landholdings.

(A) Statement (i) is correct and

statement (ii) is incorrect

(B) Statement (i) and statement (ii)

are incorrect

(C) Statement (i) and statement (ii)

are correct

(D) Statement (i) is incorrect and

statement (ii) is correct

64. Hkkjrh; �œ"khfo"k;h [kkyhy fo/kkukalanHkkZr

rqEgh dk; Eg.kw 'kdrk \

(i) Hkkjrkrhy ns'kkarxZr jklk;uhd [krkaps

mRiknu miHkk sxki s{kk Qkj vf/kd

vkgs

(ii) Hkkjrkr loZ jklk;fud [krkaph vk;kr

ijns'kkrwu dsyh tkrs-

(A) nksUghgh fo/kku (i) vkf.k fo/kku (ii)

pqdhph vkgsr

(B) nksUghgh fo/kku (i) vkf.k fo/kku (ii) cjkscj

vkgsr

(C) fo/kku (i) cjkscj vkf.k fo/kku (ii) pqdhps

vkgs

(D) fo/kku (i) pqdhps vkf.k fo/kku (ii) cjkscj

vkgs

65. Hkkjrh; œ"khP;k fÿ;k'khy tehu /kkj.kslanHkkZr

rqqEgh dk; Eg.kw 'kdrk \

(i) ygku /kkj.k{ks=kph e;kZnk 1 gsDVj rs

2 gsDVjP;k njE;ku vlrs-

(ii) eksBÓk /kkj.k{ks=kps ,dw.k /kkj.k{ks=krhy

izek.k lk/kkj.ki.ks 20% vkgs-

(A) fo/kku (i) cjkscj vkgs vkf.k fo/kku (ii)

pwd vkgs

(B) fo/kku (i) vkf.k fo/kku (ii) pwd

vkgsr

(C) fo/kku (i) vkf.k fo/kku (ii) cjkscj vkgs

(D) fo/kku (i) pwd vkgs vkf.k fo/kku (ii)

cjkscj vkgs
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66. Find the odd name out :

Regional Rural Bank, Primary

Agricultural Credit Society, ICICI

Bank, NABARD :

(A) Primary Agricultural Credit

Society

(B) Regional Rural Bank

(C) ICICI Bank

(D) NABARD

67. Which of the following is not the

objective of land reforms in  India ?

(A) Abolition of intermediaries

(B) Providing irrigation facilities

(C) Security of tenure

(D) Regulation of rent

68. Investment in Indian agriculture as

per cent of GDP constant prices was

around...................% by the year

2010.

(A) 1.5

(B) 5.5

(C) 3.5

(D) 7.0

69. Suppose the utility function is

U = q1, q2, prices are given as

p1 = 4 and p2 = 10. With consumer’s

income as Rs. 200, what would be

the equilibrium quantities of

commodities ?

(A) q1 = 25, q2 = 10

(B) q1 = 50, q2 = 20

(C) q1 = 20, q2 = 40

(D) q1 = 5, q2 = 10

66. [kkyhy ukokrhy folaxrh 'ksk/kk %

foHkkxh; xzkeh.k c°d] izkFkfed œ"kh ir laLFkk]

vk;-lh-vk;-lh-vk;- c°d] ukckMZ
(A) izkFkfed œ"kh ir laLFkk
(B) foHkkxh; xzkeh.k c°d
(C) vk;-lh-vk;-lh-vk;- c°d
(D) ukckMZ

67. [kkyhyiSdh dk s.krk ?kVd Hkkjrkrhy
tfeufo"k;d lq/kkj.kkaps mfÌ"V uOgrs \
(A) e/;LFkkaps mPpkVu
(B) ik.khiqjoBÓkP;k lqfo/kk iqjfo.ks
(C) dlouqfdph 'kk'orh
(D) [kaMkps fu;eu

68. lu 2010 e/;s Hkkjrh; œ"kh {ks=krhy xqaro.kwd

fLFkj fdaerhuqlkj jk"V™h; mRiUukpk-------------

VDds gksrh-
(A) 1.5

(B) 5.5

(C) 3.5

(D) 7.0

69. Suppose the utility function is

U = q1, q2, prices are given as

p1 = 4 and p2 = 10. With consumer’s

income as Rs. 200, what would be

the equilibrium quantities of

commodities ?

(A) q1 = 25, q2 = 10

(B) q1 = 50, q2 = 20

(C) q1 = 20, q2 = 40

(D) q1 = 5, q2 = 10
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70. If the utility function is U = q1q2

and the budget constraint Mº— p1q1
– p2q2 = 0, then the demand

functions are :

(A) Vertical

(B) Rectangular hyberbola

(C) Parabola

(D) Horizontal

71. Entrepreneur’s short run total cost

function is :

C = q3 – 6q2 + 17q + 66.

What would be the output level at

which he maximizes profit if p = 5

under perfect competition ?

(A) 1

(B) 2

(C) 3

(D) 4

72. An economy has the following data

for industry and agriculture sectors :

Agriculture Industry Final Final

Demand Output

  Agriculture 150 50 100 300

  Industry 50 100 50 200

The input-output coefficient for

industry’s input into agriculture

sector is :

(A)
1

2

(B)
1

3

(C)
1

6

(D)
1

5

70. If the utility function is U = q1q2

and the budget constraint Mº— p1q1
– p2q2 = 0, then the demand

functions are :

(A) Vertical

(B) Rectangular hyberbola

(C) Parabola

(D) Horizontal

71. Entrepreneur’s short run total cost

function is :

C = q3 – 6q2 + 17q + 66.

What would be the output level at

which he maximizes profit if p = 5

under perfect competition ?

(A) 1

(B) 2

(C) 3

(D) 4

72. An economy has the following data

for industry and agriculture sectors :

Agriculture Industry Final Final

Demand Output

  Agriculture 150 50 100 300

  Industry 50 100 50 200

The input-output coefficient for

industry’s input into agriculture

sector is :

(A)
1

2

(B)
1

3

(C)
1

6

(D)
1

5
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73. Heteroscedasticity means :

(A) Error variance increases

(B) Error variance decreases

(C) Error variance increases or

decreases

(D) Error variance is constant

74. When the number of explanatory

variables in the regression model

increases the adjusted R2 2(R) .

(A) Increases

(B) Decreases

(C) Does not change

(D) May increase or decrease

75. In a dummy variable model, the

number of dummies should be :

(A) one less than number of

categories

(B) one more than number of

categories

(C) equal to number of categories

(D) one less than number of

independent variables in the

model

73. Heteroscedasticity means :

(A) Error variance increases

(B) Error variance decreases

(C) Error variance increases or

decreases

(D) Error variance is constant

74. When the number of explanatory

variables in the regression model

increases the adjusted R2 2(R) .

(A) Increases

(B) Decreases

(C) Does not change

(D) May increase or decrease

75. In a dummy variable model, the

number of dummies should be :

(A) one less than number of

categories

(B) one more than number of

categories

(C) equal to number of categories

(D) one less than number of

independent variables in the

model
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